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First exam Algorithmics

30 March 2016

Answers:
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Right answer

Remark

’-C-D‘\OOO\IO\UIAU)N»—A

—
fam—

[
O}

o
(O8]

p—
BN

[S—
(9}

—
(@)

ok
~

[—
o0

[
\O

s Sivcliwll@lkbivllsclivlivliviiollelleliwlldleli=lEdls

\®)
=




Question 1.
The following values are given:
AWy Wl i

&

Which of the equations is true (select only one):

a) a(l) == 0
b) a(2) == ¢
¢) a(4) == 9
d) length(a) == 3

Question 2.
The following values are given:

I

2 F 2 3 21 34 55 SO g
TainE (>4 )

a
b

Which of the equations is true:
a) b == [56 78 9 10 Bl

b) b¥e=SG oG 1L
¢) b ==[58 13 21 34 55 89]
d) b == []

Question 3.

The following function is given:

function ans = test (n)

LE @ 2 0
anss=Slnoswai
elseif n < 1088s n > —10
ansE=lelc
else
ans = 'may be' ;
end
end
alongside the fo!

test (i




Question 4.

The following code is given:
tor al=12:2%2

bila) =& +:4;

end

The result is (select only one):
a) b == [3]
b) b == [0 2]
¢) b == [0 3]
d) b == [0 0 3]

Question 5.
Which of the following while loops produces the same result as th§ loop

(select only one): g

a) a=2;
while a <= 2
b(a) = a + 1;

end
b) a =2 ;
while a <= 2
b(a) = a +
a = a e
end
e) a= 277

while a <= 2
a=a + 38
b(a) = a 7

end

d) None of the above
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Question 6.
Given are two functions:

fux?ction result = f(n) function result = g(n)
1f (n==01) result =21 ;
result = 1; for i=1l:n
else result = result * i;
TesSult s =sni=afin= 15 end
end end
end
Which of the following is not true? (select only one)
a) £(1) == g(1) &
b) £(2) == 2
¢) g(0) == 1
d) £(0) == 1

gt

LS )
79

Question 7.
Reconsider the functions from question 6. Which of the following is not true? (select

only one) »
a) the functions £ and g return the same value for each intege:
b) the function call £ (-1) will return an error in M:
¢) the function call g (-1) will return an error in.
€) £(2) == gl Bt

Question 8.
Someone writs
funetite




Question 9.

The following values are given:
A = true
B = false

Determine the value of each of the following expressions:

Bl =AY ] 1A B
E2 = (~A && B) && (~A && B)
E3 = (~A && B) || (~A && B)

Which of the following is correct (select only one):

R

a) E1 == true E2 == true E3 == true g
b) E1 == true E2 == true E3 == false
¢) E1 == true E2 == false E3 == false

d) E1 == false E2 false E3 == false

Question 10.
Consider the following matlab function:

function



Question 11.
Consider the following matrices:

A=[2 1 B=[1 -1

b6 4. sl

What is the correct result of the multiplication R = A .* B in matlab? (Select only
one.)

8) R= [:3 é

w =[5 ]

9 A [—33 —77]

=t

g 25 [i e

Question 12. -
Consider the matrix A = E :
(Select only one) '
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Question 14.
The sum of the first n integers is;

fs(n) = i j
=1

Which of the following mat] .
correctly? (Selbet onlygon:_)ab functions calculates the sum of the first n integers

a) function result=fs (n)
AR =) 3
EeSTER= 11>

else
result = fs(n-1) + 1;
end

b) function result=fs(n)
result = sum(O:1:n);
end

¢) function result=fs(n)
result=1;
fone izl
result = result
end - B

d) function res

(n==1

with i = 1,2, ... 115G
Which of the followin

a) The trapezoid
linear approxim
b) The trapezoidz
quadratic appro:
¢) The cumulative
functions of de;
d) The approximat
limits @ and b)
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Question 16.

derivative of the f func

oy S not gj T e
tion in X; ? (Sel 81Ve a proper approximation of the first

€ct only one):

& f(Xi4q)- Z*f(xi)+f(xi-1)

Xit1= 200 +x;_,

by L[&id-rap

Xi-1—X;

) F(xiv1)— F(xi-1)

(Xit1— x3-4)

d) [ Xie1)— f(xD)

Xi+1— Xj

Question 17.
Consider the values a=[ 1, 2, 3, 4, 5]
Which of the following matlab outputs

is correct? (Select only one)
Caricig ﬁrﬂ :

a) >>.size
ang =

&
|
‘;i



Question 18.

which of the following options ig true?
Matlab represents true-coloyr images as

ing the imag

coloured branches
matrices of the co1 oy type

d) Three-dimensiona] arrays of the uint8 type

Question 19.

Consider the unsigned integers =uint8 (250) and k =uin’r:8 (10) in Maﬂa};_
When entering j+k in Matlab, which of the following results is the correct one?

(Select only one)

€ content in words

If you expect an error message, select (d). (Select only one answer.)

AJEnns =55
By ons — 55
¢) ans = 260

i Uigiiane i
d) Undefined function for input of type 'uin

uestion 20. ¥ v -.
I?'Iatlab provides the fgmcgon pl ot. ;,
Which of the following nts is ¢

plot{z,y, 'kx')

.
o
o~
[+
o
ko]
¥



